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T 0 1 2 3

1.0 | 1.000 | 1.005 1.010 1.015
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0] ZFo] 1.105¢] A& o™ 192 o]E2 122 = 1.105
olct, Wt g = 1.196,b = 1.22 0]t




11.

12— dx—a 7} F ARA ) Fog ASBAHL, o] F &
2x+3 2 W, ¢ 2] L2

® -15 @ -6 ® 3 @ 6 )15

B

4x2 —dx—a = (2x + 3) (bx +¢)

= 2bx? + (3b + 2¢)x + 3¢
2b=4, b=2
2c+3b=-4, c=-5
—a=3c=-15, a=15




@ a2+ab—|—b2) (aQ—ab—i—bQ)

a +ab+b) az—ab—i—b)

(
@ (a? (
® (a*+ab+1b) (a*>—ab-b
@ (
© (

a+ab+b2) (a—ab+b2)

(EH) = (@ +1%)° - (ab)”

= (a* +b* + ab) (a*® + b* — ab)




13. A4 10" -1 o] of9] A7

@ 107} @127]1 3 1674 @ 24 7Y ® 2874

~&B

10* =1 = (102 + 1)(10% - 1)
= (102 +1)(10 + 1)(10 - 1)
=101 x11x9
=32x11x101

kA oe] e (24 1)(1+1)(1+ 1) = 12(7H)




14.

2 _ .2
Ty =3 4], x2—4xy+4y*>—8x+16y—11 O] F2? (HF, x £ y)
Xy

®-3 @1 ®-5 @-3 G)-u

XQ_YQ — 3 oA (x+y) (x=-y) -3,

xy =y y(x-y)
x#yOClER x—y#0
maby, 25V 5 gy

x=2y=S HYstH
x2 — 4xy + 4y? — 8x + 16y — 11
= 4y? —8y? + 4y? — 16y + 16y — 11 = —11




15. 2o 7tz Al27F 42 3x - 1, x - 2y ¢ F-L&HA o Ful7}

3x3 — 7x? — 6x%y + 2x + 14xy — 4y ©|t}. o|uff, o] Z-&HA| 9] =ol&
“FotH?

@x—2 @ x-1 ® x+1

@ x+2 ® 2x+1

~&B

y ol gt WAtz 2 gejstd
)

=-2y(38x* —7x+2) +3x° - Tx* + 2x
= -2y (322 - Tx+2) + x (32® - 7x + 2)
= (x-2y) (3x* - Tx+2)

= (x=2y) B3x-1) (x=2)

w2t Fole x -2 °Jth.




